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Nehf;fr; Nrhjid tpdhf;fs; ;  
(nkhj;jk; 25 Gs;spfs;) 
 

 

tpdh 01 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;:  

1.1 (3) 

nraw;ghLfs; 

    Nja;khdk;                                  = (840,000 - 40,000) / 5  = 160,000   

 4 tUl jpuz;l Nja;khdk;  = 160,000 × 4     = 640,000   

    Kw;nfhzu;e;j ngWkjp           = 840,000 - 640,000              =  200,000 

(02 Gs;spfs;) 
1.2 (1) 

(02 Gs;spfs;) 
1.3 (3) 

nraw;ghLfs; 

fpuak;                         =  500,000 

<w;Wg; ngWkjp        =  (20,000) 

Nja;khd ngWkjp  =  480,000 

(02 Gs;spfs;) 
1.4 (3) 

(02 Gs;spfs;)      
1.5 (2) 
 nraw;ghLfs; 

    kW fl;lis kl;lk;  = cau;e;jgl;r ghtid X cr;r fl;lisf;fhyk; 

                                                   = 400 × 8  

                                                   = 3,200 

                                                                                                                   (02 Gs;spfs;)     

1.6   (1)                                                                                                                             

  (02 Gs;spfs;) 

 

 

 

 

gFjp - A 
 

,yq;if fzf;fPl;L njhopEl;gtpayhsh;fs; fofk;  

kl;lk; II guPl;ir – [_iy 2022 

 (201) cau; epjpf;fzf;fPL;k; fpuatpaYk; 

gupe;Jiuf;fg;gl;l tpilfs; 
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1.7  
epge;jidfs; epjpf;fzf;fPL fpuaf;fzf;fPL 
fhy 
tiuaiw 

juTfs; gjpTnra;ag;gl;L 
Fwpg;gpl;l fhytiuaiwf;Fs; 
mwpf;iffs; jahupf;fg;gLfpd;wd. 
cjhuzk;: fhyhz;L> 
miuahz;L> tUlj;jpw;fhd epjp 
$w;Wf;fs;; 

fpuaf;fzf;fPL MdJ juTfs; 
kw;Wk; guptu;j;jidfshdJ xU 
myFf;fhd fpuak; kw;Wk; 
Nehf;fj;jpid mbg;gilahf 
nfhz;lJ. fpuaf;fzf;fPl;L 
$w;Wf;fs; fhy ,ilntsp 
mbg;gilapy; Kfhikf;F 
vLj;Jiuf;fg;gLfpd;wJ (Fwpg;gpl;l 

/Njitg;gLk; NghJ)   

Nehf;fk; epjpf;fzf;fPl;bd; Kf;fpa 
Nehf;fkhdJ 
epjpr;nraw;ghl;bidAk;; mjd;; 
epiyg;ghl;bidAk; vLj;Jiuj;;J 
KbntLg;gjid 
,yFthf;FtjhFk.; (ntspaf 
gq;Fjhuu;fSf;F Njitahd 
juTfis toq;FtJ ,jd; 
mbg;gil Nehf;fkhFk;)  

epWtdj;jpw;Fs; jpwikahd 
jpl;lkply; kw;Wk; fl;Lg;ghl;L 
#oy;fs; cUthf;fp 
tpidj;jpwd;kpf;f jPu;khdq;fis 
vLg;gjw;F Kfhikj;Jtj;jpw;F 
cjTtNj fpuaf;fzf;fPl;bd; 
Nehf;fkhFk;. (fpuaf;fzf;fPL 
mbg;gilahf cs;sf 
gq;Fjhu;fSf;F Njitahd 
mbg;giljuTfis toq;Ftjw;Fk; 
cjTfpd;wJ)  

 (02 Gs;spfs;) 
1.8  gq;Flikapy; cs;slf;fg;gLk; mbg;gil gz;Gfs; 

1. gq;Flikapd; ngau; miktplk; kw;Wk; tpahghuj;jpd; jd;ik 

2. gq;fhsupd; ngau; kw;Wk; Kftup  

3. gq;Flik Muk;gpf;fg;gl;l jpfjp 

4. xt;nthU gq;fhsuJk; %yjd tpguq;fs; kw;Wk; %yjd tpfpjq;fs;  

5. gq;fhsu; ,ilNa fhzg;gLk; ,yhg/el;l gfpu;T tpfpjq;fs;. 

6. gq;fhsu;fs; %yjd tl;bf;F cupj;Jilatuhapd; mjw;fhd tpfpjq;fs; 

7. Gjpa gq;fhsu; epak tpjpKiwfs; 

8. %yjdj;jpw;F Nkyjpfkhf gq;fhsuhy; toq;fg;gl;l fld;fSf;fhd tl;b 

tpfpjq;fs; 

9. ed;kjpg;G kPs; kjpg;gPL nra;Ak; Kiwikfs; 

10. gq;Flik KwpT gw;wpa epge;jidfs; kw;Wk; flg;ghLfs; 

11. gq;Flikapy; flikahw;Wk; gq;fhsu;fSf;F mjhtJ ciof;Fk; gq;fhsUf;F 

rk;gsk; tiuaWf;fg;gl;bUe;jhy;> mjw;fhd njhifahdJ Fwpg;gplg;glNtz;Lk; 

12. Vw;fdNt cs;s gq;fhsu; tpyfy; njhlu;ghd flg;ghLfs; kw;Wk; mjw;fhd 

epakd nfhLg;gdTfs; 

13. epWtdj;jpy; gq;fhsuhy; gw;wg;gLk; njhiff;F mwtplg;gLk; tl;b tPjq;fs; 

14. gq;fhsu; eilKiw fzf;Ff;F mwtplg;gLk; tl;btPjq;fs; 

15. ,jid jtpu;e;j gq;Flik njhlu;ghd Nkyjpf tpguq;fs; 
(03 Gs;spfs;) 
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1.9  

     ngWkjp Nru; tup nrYj;j Ntz;ba fzf;F 

cs;sPLfs;  (W3) 60,000 kP/fP/t 245,000 

jpUk;gy;fs; (W2) 24,000 ntspaPLfs; (W1) 103,680 

kP/fP/t 264,680   

 348,680  348,680 

    

 
nra;iffs; 
W1   tpw;gid    = 1,296,000 ×8% = 103,680 
 
W2  tpw;gid jpUk;gy;fs;   = 300,000 × 8% = (24,000) 

 
 ntspaPl;Lf;fhd  VAT      =   79,680 
 
W3  cs;sPl;L VAT = nfhs;tdTfs; × VAT% =  750,000 × 8%     = 60,000 

 (04 Gs;spfs;) 
1.10 
 
 

  

 
 
 
 
 
 
 
 
 
 
 

(04 Gs;spfs;) 

 
(nkhj;jk; 25 Gs;spfs;) 

 

 
 
 
 
 
 
 
 
 
 
 

                                                     gzp ,yf;fk;. 2000       
                                       (&gh) 

Neu; %yg;nghUs;  8,000 × 40 320,000 

Neu; $yp – gpupT 1 300 × 800     240,000 

Neu; $yp – gpupT 11 450 × 1200     540,000 

cw;gj;jp Nke;jiyfs; 780,000 × 75% 585,000 

nkhj;j fpuak;  1,685,000 

,yhg tpfpjk; 20% 337,000 

Tpw;gid tpiy  2,022,000 

gFjp A KbT 
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(nkhj;jk; 50 Gs;spfs; ) 

tpdh 02 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs;  

myF  04 – ,yhgNehf;fkw;w epWtdq;fspd; epjpf;$w;Wfs; kw;Wk; epjpf;$w;W tOf;fSk; 
(a)  

Nrg;up b];upgpA+l;lu;]; 
guPl;ir kPjp 

                                          31khu;r; 2022 ,y; cs;sthwhd                              

  tuT nryT 
jsghlq;fSk; mYtyf 
cgfuzq;fSk; 

     378,000   

Muk;g njhf;Ffs;         98,500   

thlif         96,000   

Kw;gz thlif         40,000   

tq;fpapYs;s fhR (W1)      264,500   

Tpahghu fld;nfhLj;Njhu;          19,200  

ml;LWfs; (ePu; kw;Wk; kpd;rhuk;)             5,000  

rk;gsq;fSk; $ypfSk;       360,000   

ePu; kw;Wk; kpd;rhuk; (W2)         77,000   

njhiyNgrp 12,000  

vLg;gdTfs;      420,000   

%yjdk; (W3)        611,500  

tpw;gidfs;     5,000,000  

nfhs;tdTfs; (W4)   3,807,700   

Nja;khdk; (W5)         82,000    

   5,635,700   5,635,700  

 

W1    

 tq;fpapYs;s fhR 
kP/fP/t 27,500 Tpahghu fld;nfhLj;Njhu;; 3,800,000 

tpw;gidfs; 5,000,000 thlif 96,000 

  rk;gsq;fSk; $ypfSk; 360,000 

  njhiyNgrp 12,000 

  ePu; kw;Wk; kpd;rhuk; 75,000 

  vLg;gdTfs; 420,000 

  kP/fP/nr 264,500 

 5,027,500  5,027,500 

    

 

gFjp - B 
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W2    

 ml;LWfs; (ePu; kw;Wk; kpd;rhuk;) fzf;F 

fhR 75,000 kP/fP/t 3,000 

kP/fP/nr 5,000 ,/e 77,000 

    

 80,000  80,000 

    

W3 - 31.03.2022 ,y; `d;rpapd; %yjdk; 

 31.03.2021 ,y; `d;rp Nrg;up b];upgpA+l;lu;]pd; nkhj;j nrhj;Jf;fs;  

(310,000 + 98,500 + 40,000 + 27,500) 

476,000 

31.03.2021 ,y; `d;rp Nrg;up b];upgpA+l;lu;]pd; nkhj;j nghWg;Gf;fs; 

(11,500 + 3,000) 

(14,500) 

31.03.2021 ,y; `d;rpapd; %yjdk;  461,500 

`d;rpapd; nrhe;j gzj;jpy; nfhs;tdT nra;ag;gl;l fhw;W gjdkhf;fp 150,000 

31.03.2022 ,y; `d;rpapd; %yjdk; 611,500 

 

W4  

tpahghu fld;nfhLj;Njhu ; fzf;F 

fhR 3,800,000 kP/fP/t 11,500 

kP/fP/nr 19,200 nfhs;tdTfs; 3,807,700 

    

 3,819,200  3,819,200 

    
 

W5 -  Nja;khdk; 

 jsghlq;fSk; mYtyf cgfuzq;fSk; Nja;khd fzf;F 

kP/fP/t 310,000 Nja;khdk; 82,000 

%yjdk; 150,000   

  kP/fP/t 378,000 

 460,000  460,000 

    
 

(10 Gs;spfs;) 
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tpdh 03 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 

myF 03 - gq;Flikf;fhd epjpf;$w;Wf;fs; 
 

(a)                                                        
                    gq;fhsu;fspd; %yjd fzf;F                                      (&gh.’000) 

 uq;fh eq;fh Jy;fh  uq;fh eq;fh Jy;fh 
ed;kjpg;G 1,500 1,500  kP/fP/t 8,000  8,000  4,000  

fld;   5650 ed;kjpg;G 1,200 1,200 600 

kP/fP/nr 8,620  8,620   kPs;kjpg;gPL  920  920 460  

    eilKiw f/F   590 

 10,120 10,120 5650  10,120 10,120  5650 

(06 Gs;spfs;)  

(b)                       
  gq;fhsu;fspd; eilKiw fzf;F                                     (&gh.’000) 

 uq;fh eq;fh Jy;fh  uq;fh eq;fh Jy;fh 

kP/fP/t 226 - 50 kP/fP/t - 632 - 

vLg;gdTfs;  550  rk;gsk;  600  

%yjdk;   590 tl;b 800  800  400  

kP/fP/nr 1,054  1,962   ,yhg gfpu;T (W1) 480 480 240  

 1,280  2,512  640   1,280  2,512  640  

 
nra;iffs; 

 
W1 – ,yhg gfpu;T 
 
gfpug;glKd; ,yhgk; 3,800 

rk;gsk; (600) 

tl;b (2,000) 

 1,200 

,yhg gfpu;T  

 uq;fh (480) 

 eq;fh (480) 

 Jy;fh (240) 

 - 
(04 Gs;spfs;)  

 (nkhj;jk; 10 Gs;spfs;) 
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tpdh 04 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 

 myF  04 – ,yhgNehf;fkw;w epWtdq;fspd; epjpf;$w;Wfs; kw;Wk; gjpag;glhj epjpf;$w;W 
juTfs; 
(a) 

mq;fj;Jt re;jh fzf;F 

kP/fP/t (15×15,000)      225,000  kP/fP/t (20×15,000)       300,000 
    
tUkhdk; kw;Wk; nrytPdk; 
(127×15,000) 

  1,905,000  mwtplKbahf;fld; 
(3×15,000)  
 

       45,000 

  ngWtdTfs; kw;Wk; 
nfhLg;gdTfs; 

  1,845,000 

kP/fP/nr (4×15,000)        60,000   

   2,190,000     2,190,000 

 
 (05 Gs;spfs;) 

(b) 

Nuhfhdpad;]; nfhOk;G rq;fk; 
tUkhd nrytPdf; fzf;F  

31.12.2021 Kbtile;j Mz;Lf;fhd 

 

tUkhdk;   

mq;fj;Jt re;jh fl;lzk; 1,905,000  

tUlhe;j xd;W$ly; ,yhgk ; (W1)      110,000 2,015,000 

 

  

fopf;f: nryTfs;   
mwtplKbahf;fld;   45,000  
fhfpjhfpfs;   45,000  
jghy;fl;lzk;   36,000  
gazr; nryT    12,000  
njhiyg;Ngrp   15,000  
Nja;khdk;    46,000 (199,000) 

Mz;Lf;fhd kpif   1,816,000 

 
 

W1  
           xd;W$ly; fzf;F 
tUkhdk; (90 ×  2,000)  180,000 

nryTfs;:   

 N`hl;;ly; nryT (50,000)  

 ,irf;FO fl;lzk; (20,000) (70,000) 

  110,000 

 
 (05 Gs;spfs;) 

(nkhj;jk; 10 Gs;spfs;) 
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tpdh 05 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 

myF 06 – %yg;nghUs; kw;Wk; $ypf;fhd fzf;fPL 
 (A) 

1. ntl;Lk; gpupT – cw;gj;jp fpua epiyak;   

2. ijf;Fk; gpupT – cw;gj;jp fpua epiyak;     

3. nghjpapLk; gpupT – cw;gj;jp fpua epiyak;    

4. fsQ;rparhiy  – Nrit fpua epiyak;    

5. guhkupg;Gg; gpupT – Nrit fpua epiyak;    

6. epjp kw;Wk; kdpj tsg;gpupT – Nrit fpua epiyak;   (04 Gs;spfs;) 

(B)  
(a) 

        %yg;nghUs; fl;Lg;ghl;L fzf;F 

kP/fP/t 250,000 
Gj;JUthFk; Ntiyf;fhd 
toq;fy;  550,000  

nfhs;tdTfs; - fld; 500,000   

nfhs;tdTfs; - fhR 175,000 
     kP/fP/nr 375,000 

 
     925,000 

 
     925,000 

 
  

   
 (03 Gs;spfs;) 

(b) 
 Gj;JUthf;fk; fl;Lg;ghl;L fzf;F 

kP/fP/t 300,000 KbTg;nghUs;fs; 1,600,000 

%yg;nghUs; 550,000 kP/fP/nr      100,000 

Neu; $ypfs;      600,000   

cw;gj;jp Nke;jiyfs;      250,000 

 

 

 

  1,700,000 

 

  1,700,000 

 

  

   (03 Gs;spfs;) 
(nkhj;jk; 10 Gs;spfs;) 

 

tpdh 06 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 

myF 06 – %yg;nghUs; kw;Wk; $ypf;fhd fzf;fPL 

 (A) 
 (a)    tUlhe;j Nfs;tp = tUlhe;j cw;gj;jp x mynfhd;wpd; gad;ghL 

                                          = 100,000 × 250 
                                                 1,000  
                                          = 25,000 fp.fp. 

 (02 Gs;spfs;) 



 

  9   (201) cau; epjpf; fzf;fPLk; fpuatpaYk; 201/AFC 
 

(b) 
rpf;fd fl;lis fzpak;  (EOQ) = 

√
𝟐𝑫𝑪𝟎

𝑪𝒉
 

 = 
√

2 × 25,000 × 28,900

20
 

 =   8,500 fp.fp. 

(03 Gs;spfs;) 
(B) 

                                                                                    
&gh. 

rhjhuz $ypfs; (8 × 125 × 20) 20,000 

kpifA+jpak; (W1) 
(30 × 125 × 60%) 

2,250 

nkhj;j tUkhdk;  22,250 
 
 

  nra;if  
myF xd;wpw;fhd mDkjpf;fg;gl;l NtiyNeuk;      = 4 epkplq;fs; 

myFfs; 2,859 jahupg;Gf;F mDkjpf;fg;gl;l fhyk; = 4 × 2,850                                      

60 

 = 190 kzpj;jpahyq;fs; 

nrytopf;fg;gl;l kzpj;jpahyq;fs; (8 × 20) = 160 kzpj;jpahyq;fs; 

Nrkpf;fg;gl;l kzpj;jpahyq;fs; = 30 kzpj;jpahyq;fs; 

 
 

 (05 Gs;spfs;) 
(nkhj;jk; 10 Gs;spfs;) 

 
 
 
 
 
 
 
 
 
 

 
 

 

 gFjp  B  KbT 
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fl;lha tpdh 
(nkhj;jk; 25 Gs;spfs;) 

tpdh 07 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; 

myF 02 - $l;bizf;fg;gl;l fk;gdpfSf;fhd epjpf;$w;Wfs; 

(a) 
tiuaWf;fg;gl;l Ngu;s; (jdpahu;) fk;gdp; 

31 khu;r; 2022 ,y; Kbtile;j Mz;bw;fhd 
            ,yhg my;yJ el;l kw;Wk; gpw Kw;wlf;f tUkhd $w;W       (&.’000) 

tpw;gid       973,880  

tpw;gid fpuak;(606,254 + 600)      (606,854) 

nkhj;j ,yhgk;   367,026  

   

tpw;gid tpepNahf nryTfs;     

Nja;khdk; - Nkhl;lhu; thfdk;(W2)  21,250   

mwtplKbah fld;         70   

IAwTf; fld; Vw;ghl;L njhif (17,970 - 

3,150)  14,820   

tpsk;gugLj;jy; kw;Wk; tpw;gid gzpir 25,287  

vupnghUs; kw;Wk; Nghf;Ftuj;J nryT 8,540 (69,967) 

   epiya epu;thf nryT     

Nja;khdk; - mYtf jsghlk; (W2)    3,000   

ePu; kw;Wk; kpd;rhuk; (1,309 + 65)    1,374   

mYtyf thlif    1,125   

rk;gsq;fSk; $ypfSk;   88,244   

Vida epu;thf nryTfs;    3,602  (97,345) 

    

Vida nryTfs;   

jdpr;rq;fs; tl;b    6,000   

tq;fp fl;lzq;fs; 751 (6,751) 

tupf;F Kd; ,yhgk;  192,963 

tup (3,825 + 445)  (4,270) 

Mz;bw;fhd ,yhgk;  188,693 

(13Gs;spfs;) 

 

 

 

gFjp - C 
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(b) 
tiuaWf;fg;gl;l Ngu;s; (jdpahu;) fk;gdp; 

31 khu;r; 2022 ,y; Kbtile;j Mz;bw;fhd 
                                                               epjp epiyikf; $w;W    

                                                                                                                                                    (&gh.’000) 

 

fpuak; jpuz;l Nja;T 
Kw;nfhzu;e;j 

ngWkjp 

epiyahd nrhj;Jf;fs;       

Nkhl;lhu; thfdq;fs;       85,000     58,350        26,650  

mYtyf cgfuzk;       15,000     12,000          3,000  

      100,000     70,350        29,650  

eilKiw nrhj;Jf;fs;    

 njhf;Ffs; (190,552 - 600)   189,952   

 tpahghu tUkjpfs; (359,470 - 70 - 17,970) 341,430  

fhRf; ifapUg;Gk; tq;fp kPjpAk;   157,169      688,551  

nkhj;j nrhj;Jf;fs;   718,201 

     

    

cupikahz;ik kw;Wk; nghwg;Gf;fs;    

Fwpg;gpL %yjdk;   300,000   

iff;nfhs; ,yhgk;;(80,000 + 188,693)   268,693   

nkhj;j cupikahz;ik       568,693 

     

eilKiway;yh nghWg;Gf;fs;    

 15% jdpr;rq;fs;         40,000  

     

eilKiw nghWg;Gfs;    

tpahghu nrd;kjpfs;;  105,618  

nrYj;j Ntz;ba jdpr;rq;fs; tl;b   3,000  

nrYj;j Ntz;ba tUkhd tup (W1)  825  

ml;LW nryTfs;  65 109,508 

nkhj;j cupikahz;ik kw;Wk; 
nghWg;Gf;fs;   718,201 

 
nra;if 1 

nrYj;j Ntz;ba tUkhd tup (W1)  

fhR 3,445 kP/fP/t 445 

kP/fP/nr 825 ,/e f/F 3,825 

    

 

4,270  4,270 
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nra;if 2 – Nja;khdk; 

Nkhl;lhu; thfdk; = 85,000/4 = 21,250 

mYtyf cgfuzk; = 15,000/5 = 3,000 

 

(12 Gs;spfs;) 
 

(nkhj;j 25 Gs;spfs;) 
 

 
 
 

 
 

 
 

 
 
 
 
 
 
 
 
 
 

gFjp C KbT 
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Notice:  

These answers compiled and issued by the Education and Training Division of AAT Sri Lanka 

constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should 

not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 

fundamental objective of this publication is to add completeness to its series of study texts, designs 

especially for the benefit of those students who are engaged in self-studies. These are intended to 

assist them with the exploration of the relevant subject matter and further enhance their understanding 

as well as stay relevant in the art of answering questions at examination level. 
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